
Answers

1)	  

2)	 a)

b)	 Five-tenths

3)	 Three-tenths or 3 
10

4)	 a)   Ten-tenths or 10 10

b)	 1 whole and 1 tenth, eleven-tenths, 11 10 or 1 1 
10

1)	 The first child is correct. One-tenth more than 10 10 is 11 10 or 1 and 1 
10.

2)	 True. Adding three-tenths to three-tenths makes 6 
10.

a)	  4 
10

b)	  4 
10 is the only possiblity.
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Representation Words Fraction

three-tenths

four-tenths

3 
10

4 
10

3)

1)	 Farooq is not correct. If 4 
10 were removed, only 9 

10 of the ten frame would be left over. 

a)	 Possible answers include: 1 bar and 6 pieces left over, 1 and 6 
10, 1 

6 
10, 

16 
10 or

b)	 True. Jasmine is correct. She will have one full bar (or 10 10 ) to herself.

3)	 Possible answers include 1 4 
10, 

14 
10 or

ONE WHOLE (10 
10)

4 
10
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